
 
Timed Extended Constructed Response (ECR) Task—Grade 2 December  
2.NBT.5 

      
 

 

Name: _____________________________  Date: _____________________ 
 

PART A 

 
Find the sum of 48 and 19. 

 

 

 `  Enter your answer in the space provided. 

 

 

    

 

    

 

    
 

 

 

PART B 

 
Marcus was asked to find the sum of 76 and 55. His answer is shown below. Explain the mistake 

Marcus made. Then, find the correct sum of 76 and 55. 

 

76 + 55 = 121 
        
 

                                             Enter your answers and explanation in the space provided.  
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ANSWER KEY 
 

Rubric Part A 
Score Description 

1 Student response includes the following component: 

 

• Computation component = 1 point 

o Correct answer, 67. 

 

0 Student response is incorrect or irrelevant. 

Rubric Part B 

Score Description 

2 Student response includes the following components: 

 

• Computation component = 1 point 

o Correct answer, 131.  

• Reasoning component = 1 point 

o The student explains the mistake Marcus made when 

adding. 

 

Sample Student Response: 

 

“Marcus did not add correctly. Starting in the ones place, he has to add 6 + 

5 which equals 11. He put a 1 in the ones place, but he forgot to regroup 

the 1 in the tens place and add it to the 7 tens. Then, it would be 1 + 7 + 5, 

which equals 13, not 12. The correct sum is 131.” 

1 Student response includes 1 of the above elements. 

0 Student response is incorrect or irrelevant. 
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